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fercdfor-
1. Fft U9 BT Beeam 3iferard 21

2. U9 BHIBG 1| A 5 db dXgers e &l Uld argfemss 01 3k &1 ueed
& 3fd A T Iw |
3. U PAIB 6 A 15, UAD U 2 3ih, oI AT 30 T |
4. U9 BHADG 16 A 19, UAP U 3 3ih, o AHAT 75 k|
5. Ul BHATPG 20 A 23, UAB U 4 3b, o AT 120 o= |
6. U9l BHIB 6 A 23 dd AT H fiale fawea 71
7. ASITHB Yol A ora A &1 dered &t B
Instructions-
1. All questions are compulsory to solve.
2. Questions no.1 to 5 are objective type questions. Each objective carries 01 mark.
Marks of each question are given before the question.
Question no. 6 to 15, each question 02 marks, word limit 30 words.
Question no. 16 to 19, each question 03 marks, word limit 75 words.

Question no. 20 to 23, each equation 04 marks, word limit 120 words.

Question no. 6 to 23 have internal options.

N o O bk W

There is no limit of words in numerical questions.
.1 a?r faBey gerar fafeu |

Select the correct answer of the following 1x6=6

1. AT B 30T A ABER g1 I o ko1 ¥ &e Ram ofar 2-
31 4% Ufadd & 5% Ufadd A, 6% Ufaad €. 8%Ufdad

In the absence of agreement, interest is given on loan by the partner-

a.4% P.A. b.5% P.A. c.6% P.A. d.8%P.A.
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2. ATFEH JFoiw IR fBam oer-
31, iferart 2 g, Ufws 2
3. sford: afferar! 2 T. 3CG9Td B

Preparation of partnership deed is-

a. compulsory b. optional
c. partly compulsory d. un-necessary

3. AR & enaATguid & uRade w Affat @1 faseie gar &
3. gdargquid g. JA Agurd H
A T Irurd H T Yol & 3rgura &
At the time of change in profit sharing ratio, the reserve are distributed in-
a. previous ratio b. equal ratio
C. new ratio d. capital ratio

4. Yoit J99 & 3fde faes & fba ofives @& afedold G Simwan-
3. dlef aiIed q. fafaa =g
A, 3ieT gt T AdY Ud 3T

Under which heading of balance sheet is capital reserve shown -
a. current liabilities b. miscellaneous expenditure
c. share capital d. reserve and surplus
5. el IS 3gUTd Bl TIfRE?
3. 1:2 d. 2:1 A1 q. 2:2
Ideal liquid ratio should be?
a. 1:2 b. 2:1 c. 111 d.2:2
6. ABe U ARV & Ady FH Dl AT ASbed YATT &2

3. AS-3 d. AS-6 . AS-1 T.AS-7

Cash flow statement is related to which accounting standard ?

a. AS-3 b. AS-6 c. AS-1 d. AS-7
U2 Rad el @t gid afor |
Fill in the blanks 1x6=6
1. ATAETY BH BT TGO v 2l

The registration of partnership firm is
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U.3

3. TMA TP oo Jeufed 21
Goodwill is an asset

4. YTHSB FMAT TB oo Jrar B
Revaluation account is a account.

5. e AfATTA 2013 & 3R Rafd fawor & R ..o
B 3NJAR T oilal 2 |

As per Companies Act 2013 the balance sheet is prepared according to

schedule
6. 3T fausr & e & .o, ofiies 3 zorfem wirar 21
Bills payable is shown in the heading of balance sheet.

J/3AT H 3z dAfeiu |
Answer the following in true or false 1x6=6

1. PR BA H AP ifferer 1986 @Oy BAT B

The provision of partnership act 1986 is applicable in partnership firm.
2. T8 UIRA T 3fer, TN ARRR & THTIIUT BT 39T 2 |
Gaining ratio is a part of sacrificing partner’s ratio.
3. Geldcdichel HTA TR & [T W Ferd 2|
Revaluation account is prepared on sale of assets.
4. A,B3R CHAM: 3:2:1 B 3Uid & IR 21 Bfoga &ar @ dia
derm Cl SR 3gurd 3:1 &M |

A, B, C are partner in the ratio of 3:2:1 respectively, B retires. The new ratio of A

& C will be 3:1.
5. BH @ fduce 3R AR & fducad & Bis 3idT @t 21

There is no difference between the dissolution of firm and dissolution of

partnership.
6. T fausi @I arq Feufed ofidfes & Rmmen orar 21

Bills receivables are shown under the heading of current assets.
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U4 W SIS dersd | 1x7=7
3 q

1. Alra goit a. ollord et
2. 3fel &1 emer b. waer & o <T@
3. ume A ferga c. Yoitord  &ffel
4. 3ffq 3rfaaTe d. BFUell BT FHATT
5. &0 U= U fifdea e. oNexT UAIRIBIY 39T
6. RO USRS f. BT DI SRR
7. HOUAT B feldaea ww wAdt g snguIfdd 3Mdcs

h. faedtr ferazor
Match the columns

A B

1. Reserved capital a. Capital gain
2. Redemption of shares b. No right in management
3. Memorandum of association c. Capital loss
4. Over subscription d. Winding up of company
5. Premium on debentures e. Redeemable preference shares
6. Debenture holder f. Base of the company
7. Discount on issue of debenture g. Proportionate allotment

h. Financial Statement

U.5 TUd & H IR difew

Answer the following in one word. 1x7=7

1. Goit zmar o sifasr 9w uftad gectar &ar 8, 3 &= ®ed & 7
What is called the capital a/c of which the closing balance changes every year?
2. TS B Fibel BT 3MEMT AT & 2
What is the basis of valuation of goodwill?
3. AR @ fogfed @ feelt v ®BRu @ faRaw|
Write one reason for retirement of a partner.
4. FFT T AA B S W AR & fages Fwaamar & 2
Dissolution of firm due to expiry of time is called?

5. Bl B ol B Rigs B b A s F Rmmen avar 2 2

In which heading of balance sheet profit of the company shown according to

schedule.
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U.6

u.7

U.8

U.9

6. ol fofdga fafr v =g & anffes Rafg & use @ a
fqaror &1 o S|

Name the statement which discloses the financial position of a business on a

particular date.
7. “UTEDI A U Aba”’ b A fBarait & Adbs UdE B9

What type of activity of cash flow is receipt of cash from customers?
ARCR! Fdois A =T 39T & P 2
What is partnership deed?

3dr

AR @ a faevand gdrsY |
Describe two characteristics of partnership.
AR & fogfed A wm smerT B9 2
what is meant by retirement of partner?

3rerar
A, B3RC 211 & 3euid A a7 aifer faanfod @ea aet amger € e
cimeretfer 3refurd @t ot Hifee afy Cforgad arar 21

A, B and C are partners sharing profit in the ratio of 2:1:1. Calculate new profit and

loss ratio if c retires.
TAINT RI BH & fdhgesd A R 3MeRT & ? 2
What is meant by dissolution of firm by agreement.

3T=dT
3o WAl & AH QAfoRT S dRIelt JMd H RATAiand =@l fBJ Sfd & 2
Name the accounts which are not transferred to the realisation account.
3epd Yot v wEd & ? 2
What is authorized capital?

3T=dT
I IEer A MY R AFIAT B

What do you understand by calls in advance?
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.10

JHAAT 3797 P P 3l faouad adsY | 2

Mention any two characteristics of equity share.

3ferar
3ielt &1 FFAeT R ferofdar I w=w avef B2

What is meant by issue of share at par ?

UF HeUell of 50,000 AAAT 37T 10%. U 3ol & @ A IR
fepel/Aaqul ART 3Mded UF & AT U §s | dbd Jal H 3Mdedd ufdfe
DI | 2

A company issued 50,000 equity share at the rate of Rs. 10 each. Full amount of

these shares received with application. Pass necessary journal entry.

3dr
uftgfa fifs & Swior G- @f & fav feam o J@war 22
(@12 =)
For what purpose the security premium can be used? (any two)
3iell & &I A AT FAT AAIA & ? 2

What do you understand by forfeiture of share?
3T=dT
T WU BT I 3T gee W yafefordd fEY o1 wwd e ufr & o
fhd T W ?
Can forfeited share be re issued at discount? if so, at what price?
R fafdes of Toel A 90,000%. & #Ffid IR, ToRI®mr oorare
100 . 1t 11% 30T UF & fofoldel GRIT BT a1 | 3Mded® dhel T&l
gfafe sife | 2

Bharat limited purchased a machinery from Bajaj for Rs. 90,000 purchase
consideration is paid by issuing 11% debenture Rs. 100 each Give necessary journal
entry.

31dT
ufaddefieT 3ROT U R & ?

What are convertible debentures?
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U.14 oo J@emsti A /O FAAA AFUId Fd Bio | 2

379G 1,00,000%.
ATATT IAIT 40,000,
11% 3ROTUSN 70,000%.

From the following information calculate the debt equity ratio.

Share capital Rs. 1,00,000

General reserve Rs. 40,000

11% debenture Rs. 70,000
3&dT

3Jura faecivor & a1 3utor aarsy |
State any two uses of ratio analysis.
Adbs o A T 3T B ? 2
What is meant by cash equivalent.
3dr
JaTerel sl A R smerRT 9

What is meant by operating activities?

P,Q3R R 10 a8 A UH FUR H ARPER &1 d AAT 3rud &
dre-gifel dicd &1 31 AR 2022 & I JgAd FC B 1 Sfad
2023 A FEEWRT & HBRUT R 1/5 o187 ool | AR JedAd & b =l
®H AT 6,000%. B | olefel Ufafe o | 3

P, Q, R have been in business for ten years. They have shared profit-loss equally.
On 31st Dec. 2022 they agree that R will take a 1/5 share of profits from 1st January
2023, because of old age. Partners agree that the goodwill should be valued at Rs.
6,000. Give journal entry.

3dr
AHAT ATH U SMEemd # 3fdT aarsu |

Write difference between normal profit and super profit.
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T.17 9 ATPER B bl A JHH 3IRBR urd &d 2?2 3

What are the main rights acquired by a new partner?

37erar
. 3 2
3ifed T AUgeT ARSR B N BAM: -T - D IAguid H el faeriora dd
21 I Rieer 39 UBR -
Ankit and Rahul are partners sharing profit in the ratio of % and % respectively.

Their balance sheet is as follows:

fIeer Balance Sheet

R Liabilities Amount HHGfed Assets Amount
oelel? Creditors 25,000 ﬁ?b—s’ Cash 5,000
qw\Gﬁ T Capital A/c 1,15,000 e Debtor 25,000

3ifebd Ankit- 80,000 eIT-HTd  Reserve 5,000 20,000
Agel Rahul-35,000 Thse] Stock 35,000

CE Machinery 45,000

Hde Building 35,000

1,40,000 1,40,000

3@ 3 B foreet fafaa ordf wr @ & uder -
1. 9del BT AT 15,000%. A Tglell 2|

2. I B AT 10,000%. I TGI6M & |
3. 3[F 20,000%. A P M|

4.3mawa¢ﬁ%mmaﬂ€ra%%vaawq’§ﬁ%m
Ul ciTdel FTdT Fellg |

They admitted Aman into partnership on the following terms:
i The value of building to be increased by Rs. 15,000

il. The value of plant to be increased by Rs. 10,000
iii. ~ Aman will give Rs. 20,000 as premium for goodwill

iv.  Aman will bring sufficient capital for getting % share in the profit.

Prepare revaluation a/c.
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U.18

U.20

o fafdcs o 100%. del 4,000 6% kT U foroifHd b1 amded
U TR 10%. 3Mded WX 30% JAT AN TR 60, Ul RUUT &Pl 3T A
AR Forarg | et AR T FFT urd & IF1 B B YIABI H
Gleie @ ol BIfor | 3
Sanjay Ltd, issued 4,000, 6% debentures of Rs. 100 each, payable Rs. 10 on
application, Rs. 30 on allotment and Rs. 60 per debenture on call. Assuming that all
the moneys were duly received. Draw up necessary journal entries in the books of
the company.

3dr
3ieT Ud RUT UF H 3aR WL BT |

Make difference between share and debentures?

UF Hel & fUos & AAAT Ud TR Uel @ 3R ferear foifa a1l &
3y fha-fha ofidal & doffga Hmor 3

1. Yot oferel g

2. OIS ofere BN

3. ROT U
4. g fausr

How would you classify the following items in equity and liability of a company’s

balance sheet?

i Capital redemption fund
il. Debenture sinking fund
iii.  Debenture

iv.  Bills payable
37erar
faciar freeiuor &t fafie daeiiel &1 aufa HifsT (@ dia)

Describe the different techniques of financial analysis. (any three)

HEY T Y 5:3 B 3NJUId H ey IS B g TH A

AR 81 31 Yot HAM: 3,00,000%. TA 2,00,000% ff 1 AR

Ao F =Iaenm g - 4

1. Uoil W &l 12%aiites @ @@ A fHcten anfzu |

2. IHA B Y& TH B 5% BHAR fAder aEUI a& B ATH
1,23,000 . 2| @TH-gIel fordioel Hmar aamsu |
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.21

U.22

Mahesh and Ramesh were partners in a firm sharing profits in the ratio of 5:3. Their

capitals were Rs. 3,00,000 and Rs. 2,00,000 respectively. The partnership deed

provided that:
i Interest on capital should be allowed @12% per annum.
il. A commission of 5% of net profit should be allowed to Ramesh.

The profit for the year was Rs. 1,23,000. Prepare profit and loss appropriation
account.

3rerar
et o Jar vd uRaderefid s wmar & 3id gasu|

Differentiate between fixed capital a/c and fluctuating capital a/c.

I6id, 31 A 2019 BHA A fogad & el 39 fiad 3w Yot wma

& AT 20,000%. ATl Ig JaeN @ arft 6 T oordel 5,000% @t
i fepedi & fpam SMRoM | 3/ecd AT UX 5%SMST o= SR | Uget!
fised 31 A 2020 @& & IF oM 3 3momet A ufy af 31 AW
o BT Iy |

BH B YdD] A Toid bl 3RU HTAT TATSY | 4

Rajat a partner in a firm retired on 31st March 2019. On that day the balance

of his capital account was Rs. 20,000. It is arranged that this will be paid by annual
installment of Rs. 5000 each interest being charged on the outstanding balance at
5%. The first installment on 31t march 2020 and subsequent payments were made
on 31st march each year show Rajat’s loan A/c in the books of the firm.

31AdT

forged JARRER B < AT B orae @t fafdeer fafeed & FJemme
Discuss the different methods of payments of amount due to a retired partner.

UF PBaUell of 3000 AAAT 3ieT 10 H dlel 20 Hirerd WfFd w

forolfda fper| argel fofards urd 200 3feT &, of 3% Ul afer & @ A
3ifedd ATTAT BI AT BT Il ofal [hern AR IAB 3N BT &0 BT
o orm| it ERa afel & 12% ufd aier & w® A Yo Forifdd &R
= o1 0T T I gar: ferofder A Jafdd ufafedl @ifeo | 4
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U.23

A company issued 3000 equity shares of Rs. 10 each at a premium of 20%. The final
call of Rs. 3 was not paid by Anuj who holds 200 shares and his shares were
forfeited. All forfeited shares were reissued at Rs. 12 per share. Journalise the
forfeiture and reissue of shares.

3dr
qaiferer 3ol & fafdtee UdR & AFemsY |
Explain the various types of preference shares.

forgafaiiaa et I faclia et J Jws ude & IvrEn Hifsio-

From the following information calculate cash flow statement from financing

activities. 4
.

&d @lclld RUT-Long term Loans (1.4.2022) 3,00,000

3d el ROT -Long term loans (31.3.2023) 3,75,000

d¥ & QRIS Bl o 1,50,000 3 & K0T Bl Gerajorarel bl

During the year the company repaid a loan of Rs. 1,50,000.
31dT

Abe Udle faawor & FAATU adrsd |

Explain the limitation of cash flow statement.
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